Flun G020 quartetwiss. Arcl Asyr: Beasn ON, Lasar OFF Flun G028 quarnetwise, LISba1 Asym: Baam ON, Lasar DFF
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Fun G028 quanetwise, ISba2 Acym: Baam ON, Lasar OFF Flun G020 quanetwise, DSba1 Asym: Baam O, Lasar DFF
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Fun B2 quanetwise, DSba2 Asyi: Baarh 0N, Lassr OFF Fun B02E quaretwise. Top Fnger Aty: Bear OM, Liser OFF
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Flun 028 quanebwise SthhgafAj.]rm:B&inﬂH,LawCFF S S o] AccO AEY"‘"I {ppt}. 1665.36 +/- 107.98

] USbg1 Asym (ppt): -6.16 +/- 3.18
USbg2 Asym (ppt): -7.00 +/- 2.07
DSbg1 Asym (ppt): -8.94 +/- 0.45

DSbg2 Asym (ppt): -8.66 +/- 0.42
Top Finger Asym (ppt): -6.56 +/- 1.15

P Side Finger Asym (ppt): -4.79 +/- 1.48



Run 6028, quartetwize: LISbg2 vs time

Run 6028, quartetwiza: USbg1 vs time
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Run 6028, guartetwise: DSbg2 vs time

Run 6028, quartetwise: DSbg1 vs time
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Run 6028, quartetwise: horizFing vs fima
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Run 6028, guartetwise: vertFing vs time
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